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| eCC arbitration
| ®CCC multiplexing

@ by structural operational semantics
@ by evaluation context semantics

@ by transition semantics
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C — skip
rz:=F

|
| C;C
| ifECC
| while EdoC
E — n (neZ

| E+FE

| -FE

@ by evaluation context semantics

@ by abstract machine semantics
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C — skip
z:=k

|
| C;C
| ifECC
| while EdoC
| localz :=FEinC
E — n (neZ)

| E+FE

| -FE
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C — skip
x:=FE | *x :=F

|
| C;C
| ifECC
| while EdoC
| localz :=FEinC
E — n (neZ)

| E+FE
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Prof.

skip

r:=F

c.;C
itECC
while F do C

raise

try C handle C
x| n (neZ)
E+FE

-F
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o I AFYAA: MFC =M Z2H =
(M,C) — (M;,C4) — - -

o [C] M = fisht.(M,C) U (t — (Mis1, Cisr))
where ¢ = --- — (Mj, Cy)
A (M, Ci) — (Mis1, Cigr)
o [C] = fixkAf AM.(M,C) U (f(M) — (Mit1, Ciy1))
where f(M) = --- — (M;,Cy)
A (M, Ci) = (Miy1, Citr)
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[€]

[c] M

[€]

fix AT.
{(M,0)3u
{t = (Mi41,Cit1) |
te T7 t=---— (Miaoi)7 (Mucl) - (Mi-‘rlvci-‘rl)}

fixAS.
{(M,C)}u
{(Mi41,Cisr) |
(M;,C;) — (Mig1, Ciya), (M;,C;) € S}
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